HEM

1. Stitch Gouge X One Half Bust/Chest = T otal Front Sts
2. Stitch Gauge x Desired Button Band Width = Button Band Sts
3 Total Front Sts - Button Band Sts) + 2 = Sts to Cast On

SHAPE ARMHOLES

4. Sts to Cast On (Use answer from #3) - (( Crossback x Stitch
gouge) +9) = Sts to be decreased at Armhole

5. Sts to be decreased at Armhole + 2 = Initial Bind Off

6. Armhole Depﬂw - " Desired Neckline Dep’rh =

SHAPE V-NECK

7. Desired Neckline Depth x Row Gauge = Rows for Shaping

8. (( Neck Measurement + 2)x Stitch Gauge) - Button Band Sts
= Front Neck Sts

9. Front Neck Sts + 2 = Rig|'1+ and Left Neck Sts

10. Right and Left Neck Sts + Rows for Shaping = H ow Often To
Decrease

SHAPE ROUNDED NECK (CREW OR U-NECK)

7. (( Neck Measurement + 2)x Stitch Gauge) - Button Band Sts =
Front Neck Sts

8. Front Neck Sts <2 = Rigl‘\’r and Left Neck Sts
9. Rigl’ﬁ' and Left Neck Sts x .80 = Initial Bind Off Sts

10. Rithr and Left Neck Sts x 20 = Remaining Sts to Decrease



